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P(X =k) = ckpk(1 - p)r*
P(X =0)=C2P°(1 — P)® =(0,9)°(0,1)® = 0,001

P(X =1) = CiPX(1 - P)? =3(0,9)1(0,1)? = 0,027
P(X =2) =C2P?(1—P)* =3(0,9)%(0,1)! = 0,243

P(X =3) =C3P3(1—P)° = (0,9)3%(0,1)° = 0,729

X 0 1 2 3 2
P(X) 0,001 0,027 0,243 0,729 1
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P(Z <0,52) = 0(0,52) = 0,6985
P(Z <1,51) = Q(1,51) = 0,9344
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PZ<—-t)=Q(-t)=1-Q(+t)
P(Z < —1,56) cun 3 Jlia
P(Z < —1,56) = Q(—1,56) = 1 — Q(1,56) = 1 — 0,9406 = 0,0594 !
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P(Z = —1,34) . P(Z = 0,19) coeurl :4 Jlia
e
1. P(Z=019)=1-P(Z<0,19) =1 —0(0,19) = 1 — 0,5753 = 0,4247
2. P(Z>-134)=1-P(Z<—-1,34) =1—-Q(-1,34) = 1 — [1 — Q(1,34)] =
0(1,34) = 0,9099
P(ty1 £ Z < t3) = Q(t2) — Q(t) :amyl JI aoliel
P(0,25 < Z < 1,13)
P(—0,14 < Z < 2,11)
P(—023<Z < —0,17)
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1. P(0,25 < Z < 1,13) = 0(1,13) — 0(0,25) = 0,8708 — 0,5987 = 0,2721
2. P(—0,14 < Z < 2,11) = 0(2,11) — Q(=0,14) = Q(2,11) — [1 — Q(0,14)] =
0(2,11) — 1 + 0(0,14) = 0,9826 — 1 + 0,5557 = 0,5383
3. P(=0,23<Z < —0,17) = 0(=0,17) — 0(=0,23) = [1 — 0(0,17)] — [1 — Q(0,23)] =
0(0,23) — Q(0,17) = 0,5910 — 0,5675 = 0,0235
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Z 0.00 0.01 0.02 0.03 0.04 0.05 0.06 0.07 D.08 0.09
0.0( 05000 05040 05080 05120 05180 05199 0523% 0 05279 05313 0.5359
01| 0.53%8 05438 05478 05517 05557 05596 05636 05675 05714 0.5753
0.2 05723 05832 05871 05910 05948 05987 06020  0.6064  0.6103 06141
03| 06173  0.6217 06255 0.6293 06331 06368 064060 0.6443 06480  0.6517
04| 06554 06391  0.6628 06664 06700 06736 06772  0.6808  0.6844  0.6879
0.5 0.6915 0.6550 06385 07019 07034 07088 07123 07157 07190 07224
06| 07257 07291 07324 07357 07383 07422  0.7454  0.7486  0.7517  0.7549
07| 07580 09811 07642 07673 03704 07734 07764 07734 07823 0.7852
08| 0781 0.7%10 09339 0.97%7  0.79%  0.8023 0.8051 0.8078  0.B106  0.8133
09| 08152 0.8186 0.8212 0.8238 0.8264  0.8289 0.8315  0.8340 0.8B365  0.8389
1.0| 0.8413 08438 08461  0.8485 0.8508  0.8531  0.8554  0.8577  0.8599  0.8621
11| 0.8e43 08665 0.8686 08708 08729 08743 0.8770  0.87%0  0.8810  0.8830
12| 0.B84% 0.8869 08888  0.8%07 0.8925  0.8%44  0.8%2  0.8380  0.8937  0.9015
13| 053032 095043 09066 059082  0.590%9 05115 05131 09147 09162 09177
14| 09192 09207 09222 09236 05251 09265 09279 09292  0.9306  0.9319
15| 05332 09345 09357 09370 059382 053534 05406 09418 05423 05441
16| 05452 09463 09474 09484 09495 09505 059515 09525 09535  0.9545
17| 09554 09564 09573 09582 05591 09539 09608 09616 02623  0.9633
18| 05641 09643 09656 09664 09671 09678 09686  0.96%3 096339  0.5706
19| 05713 059713 09726 059732 059738 059744 05750 09736 059761  0.9767
20 09772 09778 09783 09788 05793 09733 09803 09808 09812  0.9817
21| 05821 09826 059830 09834 059838 05842 059846 09830 09854  0.9857
22| 0581 09864 09868 09871 09875 09878 059831 09884 09887  0.9890
23| 09893 098% 0.98%8 09901 05304 09906 09909 059911 09913 0.9916
24| 05918 0.9%0 09%2 09925 058%27 09929 059931 059932 09934 0.9936
25| 05538 09940 09341 09943  0.99%5 09946 09948  0.9%49 09951  0.9952
26| 0993 0995 0996 0997 05359 0990 0.9%1 0.9%2 0.9%3  0.9964
27| 05%5 09%6  09%7 09%8  099%9 0593970 05971  0.9%72 059973 0.9974
28| 05974 09975 093976 09977 09977 0593978 05979 09379 09930  0.99381
29| 09%1 09982 0992 0993 05534 09934 09985 09985 09298  0.9986
30| 0.5%87 09987 09387 09988 09988 059989 09989 09989 09930  0.9990
31| 05%0 09931 09931 09931  0.99%%2 09992 09992 09992 09933  0.9993
32| 05993 0993 0994 0994 05994 09934 059934 09995 0993 0.99%
33| 0595 09995 099>  099%  0.99%9%  0.599%%  099%  0.99%  0.99%  0.9997
34| 05%%7 09997 09397 09997  0.99%%7  0.99%7 09997  0.99%%7 09937  0.9998
35| 0598 09998 093938 09998  0.99%8 09938 09998  0.99%8 05938  0.9998
36| 0598 09998 093939 09999 0999 059939 09999 09939 09933  0.9999
37| 05993 09999 09935 09939  0.99%%9 09999 09999  0.99%9  0.9933  0.9999
38| 09999 09999 09999 09939 0599%93 09939 09939 09939 09933  0.9999
391 10000  1.0000  1.0000 1.0000 1.0000 1.0000  1.0000 1.0000  1.0000  1.0000




